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M.Com. (Final) Examination, 2021
BUSINESS MANAGEMENT
Paper - II (Group-D)

(For Due and Imp. Students Only)

Finance Area

(Financial Management and Control)

Time : 1% Hours | [ Maximum Marks : 100

Note .—  Attempt five questions in all, selecting one question from each Unit. All
questions carry equal marks.
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Unit-1I
(3TE-1)
1. What is a Cash Flow Statement ? How does it differ from the Funds Flow
Statement ?

Yhs Yo fgao =1 ® ? 98 19 Jare faowo 4 foq yar fig § 2
2. From the following balance sheet of Alpha Ltd. make out :
(1) Statement of changes in working capital, and

(ii)) Funds flow statement
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Balance Sheet

as on 31st March, 2019

Particulars Note |[31-3-2019 |31-3-2018
No. ® )
I EQUITY AND LIABILITIES
(1) Shareholder’s Funds
(a) Share Capital 2,50,000 2,00,000
(b) Reserves and Surplus 1 90,600 80,500
(i) Non-Current Liabilities :
Long-term Borrowings : Bank loan - 70,000
(ii1) Current Liabilities
(a) Trade Payables 1,35,200 1,50,000
(b) Short-term Provisions : Provision
for Taxation 35,000 30,000
5,10,800 5,30,500
II ASSETS
(1) Non-Current Assets -
(a) Fixed Assets
(i) Tangible 2 3,59,000 3,50,000
(ii)) Intangible Goodwill 5,000 -
(1) Current Assets -
(@) Inventory 74,000 1,00,000
(b) Trade Receivables 64,000 80,000
(¢) Cash and Cash Equivalents 8,800 500
5,10,800 5,30,500
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Notes on Accounts :

31-3-2019 |[31-3-2018
) )
(1) Reserves on Surplus -

General Reserves 60,000 50,000
Surplus in Statement of Profit and Loss 30,600 30,500
90,600 80,500

(11) Fixed Tangible Assets -
Land and Building 1,90,000 2,00,000
Plant and Machinery 1,69,000 1,50,000
3,59,000 3,50,000

During the year ended 31st March, 2019 :

(1) Interim dividend of ¥ 23,000 was paid,

(i1))  Assets of another company were purchased for a consideration of

% 50,000 payable in shares. Assets purchased were

Machinery ¥ 25,000;

(ii1) Machinery was purchased for ¥ 80,000;
(iv)  Net profit for the year 2018-19 was ¥ 66,100;

. Inventory I 20,000;

(v)  Depreciation written off : Building ¥ 10,000, Machinery ¥ 14,000;

(vi) Income-tax paid during the year 2018-19 was ¥ 28,000, Provision for tax
of T 33,000 was made to statement of profit and loss.

31 |/, 2019 I 99 8 911 98 H :
(i) T 23,000 T STARA TAART AT T;

(i) ¥ 50,000 # THG FEAT T wEiwE B T R oA H e onl W]t T

TfwE-Thy 3 20,000, TR T 25,000,

(ii)) TR @t T T 80,000 H;
(iv) @ 2018-19 1 IS @9 T 66,100 ©T;

(v) &9 ufafed fean = : we= T 10,000, |0 T 14,000;
(vi) @ 2018-19 ® ¥ 28,000 3TFRT bl AT, TM¥-BIH faeror # T 33,000 X

SIS =TSt fohar T
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Unit-II
(FFE-1D)
3.  What is meant by ‘Ploughing Back of Profits’ ? Discuss the significance from the

point of view of Company, Shareholders and Society.
‘A % QAT R F SR™ 2 I, SHREl 991 §AS i gfe | ST
ST <l fae=[ wifsu

4. A company has a maximum capacity of producing 2,10,000 units per year.
Normal capacity is regarded as 1,80,000 units per year. Variable manufacturing
costs are ¥ 11 per unit and fixed manufacturing costs are ¥ 5,40,000. Variable
selling costs are ¥ 3 per unit, while fixed selling cost are ¥ 2,52,000 per year.

Selling price per unit is ¥ 20.
(@) What is Break-even Point expressed in units.

(b) What is the volume of sales in rupees to earn a target net income of
% 60,000 per year ?

() How many units must be sold to earn a net income of 10% on sales ?

(d) What should be the selling price per unit if the break-even point is to be
brought to 80,000 units ?

(e)  Margin of safety at a profit of ¥ 90,000.

T HIET 1 SAfeehad Scaed &mar 2,10,000 SR i &1 = wEemar 1,80,000
THIEAT aiftfer At T ¥ 1 uRadeie @ 2 11 9fd SHE €1 FRE & T Suierd
% 5,40,000 aftier &1 gRedeiel fowa @ 3 3 9fd s €, i e s o
% 2,52,000 9fa o %1 fawa gea T 20 wf T T

(1) Hu-faeae fog feret fosnl (3ehmedl) w 9@ & 2
(9) % 60,000 9f T 3§ A A wH & fau fovat faeet (Toi §) 21 =ifsy ?
(9) fawa W 10 gfaem a9 AfSa w3 & fau foraAl sl &l =1 S =1fsy ?

(7) afc sm-fa=se fag 80,000 Shedl W & W wTA1 @, df Uid S&E faed qed
fopam fruffa fean s =nfeq ?

(3) 90,000 % <4 W Y& HHA|
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(3rE-110)

Explain the different types of Policies of Dividend Distribution. Under what

circumstances stock dividend be paid by a company ?

vy faawor @ e fafa= Fifadl =1 eren wifsu) fed s g/ foea gomst

H TRy e F faaer fean S ey ?
Prepare cash budget of a company for April, May and June, 2018 in a columnar

from using the following information :

Frfafed gasl 1 TR Fd U Teh hHdAl &l Uhs deie T9d, H5 a1 SH, 2018

% fau @MerR 9e9 # SR

Months Sales Purchases

(2018) ) )
January (Actual) 80,000 45,000
February (Actual) 80,000 40,000
March (Actual) 75,000 42,000
April (Budgeted) 90,000 50,000
May (Budgeted) 85,000 45,000
June (Budgeted) 80,000 35,000

You are further informed that :

6)) 10% of the purchases and 20% of sales are for cash.

(i1))  The average collection period of the company is > month and the credit

purchases are paid off regularly after one month.

(1i1)) Wages are paid half monthly and the rent of ¥ 500 included in expenses

is paid monthly.

(iv)  Cash and Bank balance as on April 1 was ¥ 15,000 and the company wants

to keep it at the end of every month below ¥ 15,000 (but not less than

T 14,000). The excess cash being put in fixed deposits in multiples of

% 1,000.
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sent gfea e s & % -
(i) T F 10% IR fawa &1 20% THe Bl B

(i) A H FAHd IR FAY Y, A § AR SUR FHA H PFAH HaHd €9 9 TH
EHERCIER IS SIS
(ili) TSI &1 PIAH AS-WEE Bl § IR T 500 fruan s =9 # wftufad § weart
foan <mar B
(iv) 1 3 & Jhg TE o9& 3§ T 15,000 o1 A1 AT I S99 e o A feA
T8 T 15,000 & +1 (fg T 14,000 ¥ &9 7&1) @A & &, Afafad Jwg T
S % ®9 H T 1,000 & UNH H TR S % €9 H A% H 9N I S R
Unit-1IV
(FTE-1V)
7.  Why do companies need Foreign Capital ? Explain.
fordt wrat 1 foeelt ISt =+ sTavgsa i A § 7 FESE
8.  Write an essay on IBRD.
IBRD W ey fafemi
Unit-V
(FTE-V)
9.  The share capital of a company is ¥ 10,00,000 with shares of face value of ¥ 10.
The company has debt capital of ¥ 6,00,000 at 10% rate of interest. The sales of
the firm are 3,00,000 units per annum at a selling price of ¥ 5 per unit and the

variable cost is ¥ 3 per unit. The fixed cost amounts to ¥ 2,00,000. The company

pays tax at 35%. If the sales increase by 10%, calculate :
(1) Percentage increase in EPS
(i1)) Degree of operating leverage at the two levels

(ii1) Degree of financial leverage at the two levels.
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T P! 1 YSft 3 10 3ifhd 7ed & 312l § ¥ 10,00,000 1 HET T R0 G 10%
=S W R T 6,00,000 T1 FEn w1 faswt T 5 gfd s, fosd gea W 3,00,000 THREE
Mtk & o IREdeiiel arTd 9fd S 3 3 ®1 R @FTd T 2,00,000 T1 et STEeR
35% 1 X W gl ¥ A faHBT 10% F agdl ¥, q9 AT HifT

()  ufa ster s H faera gfg
(i) <H W R IREEH S Sl A,
(iii) <H W R o< S<@s o qE
10. The following are the ratios extracted from the Balance Sheet of a company as

at 31st March, 2020. Draw up the Balance Sheet of the company :
T AT & 31 A, 2020 & 93 9 fad T 1qua fH=fafred €, et &6 f9g1 996y

Current Liabilities 1.0
Current Assets 2.5
Liquidity Ratio 1.5
Inventory turnover ratio (based on cost of revenue from operations) 6
Fixed Assets Turnover (based on revenue from operations) 2
Gross profit as percentage of revenue from operations 20%
Trade Receivables Collection Period 2 months
Working Capital % 3,00,000
Share Capital T 5,00,000
Reserves and Surplus T 2,50,000
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